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Chapter 6: Division (= 6, 7, 8, 9, 11, 12)

Division of 6.

Please write doww the correct answer.

1. 6l + 6=

215+ 0=

2,20+ 0=

4.54 + b=

5,42+ @ =

.24+ 0=

.0+ 0=

D FL+ 0=

A.4% =+ @ =

10.12 + @ =

M0+ b=

12.30 + @ =
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Division of 7.

Please write doww the correct answer.

V

1.20+7F =

214 =7 =

2.94+7=

4.6%+7=

5. 494+ 7=

.42 +7 =

FFFF =

©.21+%=

a4.25 + 7 =

10.70 ~ T =

M.56+ 7%=

12. 7+ 7 =

VOV VOV OV VOV VYV VWY
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PDivision of .

Please write doww the correct answer.

1. 40+ =

2.4+ =

2.4+ =

4. 45+ =

5,16+ 9 =

b. 22+9 =

7. 05+0 =

. F2L D=

4. 50~ B =

10. 5+ 9 =

M.56+ 9 =

12.24 =+ =
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Division of 4.

Please write doww the correct answer.

1.2#+9=
2.32+9=
2.99 g =
4,109 + a=
5 54 +0d= |
b. 4+0d-=
.45+ =
©.40 ~ 4 =
a1 +a= |
10.6% + 4 = |
M. +qg=
12.26 + d= |
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Division of 11.

Please write doww the correct answer.

1.9 +11 =

21%2+11 =

2.66+11=

4. 223 11 =

5121+11 =

©.55 11 =

.22+ =

.10+~ =

444 +11 =

10.994 + 11 =

MMM =

12,7 + 11 =

AR VARR VARG A VAR VAR VAR VR VAR V4
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Division of 12..

Please write doww the correct answer.

1.4 +12 =

2. Ao <12 =

2. 20+12 =

444 =12 =

5120 12 =

. G0 +12 =

F. 24 12 =

D132 12 =

A. F2+12 =

10. 4% +12 =

M. 108 +12 = |

1212 +12 =
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Division facts for 6, 7, 8, 9, 11, 12
True or False? Please circle the correct answer.,

If False, please write down the correct answer in the blank space.

1.26+6=0 True False
2.49+7=9 True False
3.16+9=2 True False
4.100 +10 =10 True False
520+5=5 True False
©10+2=0 True False
7.24+4=5 True False
©.24+2=1 True False
q4.22+%=5 True False
101+ G =2 True False
M. 44 +11 =5 True False
12. 4% +12 =5 True False
12.156+3 =5 True False
14.26+4d=5 True False
15,562 =0 True False
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Divide a two-digit vamber by a one-digit vumber
Please write dowwn the correct answer.

1.50 + 5 =

2.NMN+7F=

2.0+ 9=

4 4D = 4 =

5,70+ 2 =

. A0+ 3 =

7.0+ 5=

5.4 x4 =

A4. 6%+ 7=

10. 949 + & =

M.65+5=

1234+ 2 =

12.25+7F =

14.29+ 2 =

15. 294 =+ 3 =
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Complete the division table.
1.
Total Number of equal
Hronps
1
24 ©
20 5
72
2.
Total Nuwmber of equal
Hroups
21
42 G
aq 1
144

Amount in each

group
q

Amount in each

group
2

12
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